WEST MIDLANDS FIRE AND RESCUE AUTHORITY

21 JUNE 2021

1. CONTRACT AWARDS SUMMARY FOR PERIOD TO 30 APRIL 2021

Report of the Chief Fire Officer

RECOMMENDED

THAT the Authority note the attached Appendix which summarises the contracts in excess of £250,000 that have been awarded since September 2020.

2. PURPOSE OF REPORT

This report provides a six-month summary of all contracts that have been awarded since September 2020.

3. **BACKGROUND**

- 3.1 At the Authority meeting on the 29 June 2015, Members approved a number of revisions to the Constitution. One of the revisions was that a retrospective twice yearly summary report of tender contract awards in excess of £250,000 be submitted to the Fire Authority for information purposes.
- 3.2 In accordance with the above requirement, a summary of those contracts awarded is attached as Appendix 1.

4. **EQUALITY IMPACT ASSESSMENT**

In preparing this report an initial Equality Impact Assessment is not required and has not been carried out. The matters contained in this report will not lead to a policy change.

5. **LEGAL IMPLICATIONS**

Ref. AU/2021/Jun/92105212

The procurement processes that were followed for the procurement exercises detailed in the Appendices to this report were conducted in accordance with the Authority's Procurement policies and the Public Contract Regulations 2015.

6. FINANCIAL IMPLICATIONS

These are contained in the attached Appendices.

7. **ENVIRONMENTAL IMPLICATIONS**

There are no environmental implications arising from this report.

BACKGROUND PAPERS

Authority Meeting 21 September 2015

Policy 1/8 – Procurement Procedures

The contact name for this report is DCFO Wayne Brown - Telephone Number - 0121 380 6907.

PHIL LOACH
CHIEF FIRE OFFICER

APPENDIX 1

Contract Title	Winning Supplier	Approval Date	Contract Period (Including Extension Options)	Annual Contract value or Total Value for one off Purchase	Total Contract Value (including extension periods)	Budget PA	Basis of award e.g. Lowest Price or MEAT*	Date and Minute Number of Planned Tender Report	Any Other Relevant Information
Refurbishment of Coventry Fire House	Interclass PLC	23 October 2020	6 months	£551,000	£550,000	£550,000	MEAT	17 February 2020	
Oracle licences (part of the Enterprise Resource Planning System)	Oracle Corporation	13 November 2020	5 years	£250,000	£1,250,000	Part of the £600k pa annual support fees for the Business Transformation Project	Award of a contract without prior publication of a call for competition	- 18 February 2019	
	Namos Solutions Ltd	16 December 2020	2 years plus 2 options of 12 months	Implementation: £995,000 Annual costs: £40,000 to £80,000	£1,235,000	Implementation: £1,000,000 Annual costs: part of the £600k pa annual support fees	MEAT		Annual costs dependant on requirements upon implementation
Electrical Rewires at; Bickenhill, Billesley, Sheldon, Tettenhall and Wednesbury	Arrow Services (Midlands) Ltd	22 September 2020	One off purchase	£290,000	£290,000	£373,000	MEAT	18 February 2019	
Thermal Imaging Cameras	Angloco Ltd	8 October 2020	One off purchase	£226,000	£226,000	£260,000	MEAT	17 February 2020	

Replacement Boilers for Tettenhall, Oldbury and Smethwick Fire Stations	Acorn Mechanical Pipework Services t/a Acorn MPS for Tettenhall Mobius Works Ltd for Oldbury and Smethwick	13 December 2020	One off Boiler replacements	£306,000	£306,000	£305,000	MEAT	5 October 2020	
National Smoke Alarm Framework Agreement	Aico Ltd, Bellman and Symfon UK Ltd, FireAngel Safety Technology Ltd, and Fireblitz Extinguisher Ltd	26 February 2021	4 years	£7,500,000 (National value)	£30,000,000 (National value)	£270,000 (WMFS only)	MEAT	22 February 2021	
National Safe and Well Equipment Framework Agreement	Able 2 Wear Ltd, Blockabox Ltd, Gailarde Ltd, Solon Security Limited, Surefire Services Limited and Thomas Kneale & Co	9 March 2021	4 years	£1,000,000 (National value)	£4,000,000 (National value)	Circa £10k	MEAT	17 February 2020	
Reactive Repairs Framework Agreement	Arrow Services (Midlands) Ltd Integral Roofing and Maintenance Services Ltd Drewmark Building Services Limited Phoenix Building Management Solutions Ltd.	10 th May 2021	4 Years	£187,500	£750,000	£193,000	MEAT	22 February 2021	

Air - Conditioning works at HQ, Safeside and Hay Mills Fire Station	Mobius Works Ltd	23 rd February 2021	One off purchase	£285,000	£285,000	£314,000	MEAT	22 February 2021	
Microsoft Enterprise Agreement	Boxxe	23 rd March 2021	3 years	£346,000	£1,038,000	£346,000	Lowest Price	17 February 2020	

^{*} Most Economically Advantageous Tender (MEAT)